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Using
the rigid body Formula : to be the unit

vector fromWIXPGA.tw#KzAzC ,
to Cz

⇒ I.Air ,r^ ; Fez = - rzf
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=P ( w ,E)x( r ,f)=(wzI)xtr . F)

r.w.CI/I)=.rzwzCExI)=Dr,wtH=-rzwz#f
differentiate : msn.lt/=-rzx=

Standard
gear equations : assume the centers

of the disks don't move .



Let's look at this from another perspective :
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Rigid body : To,×rIt
,

= utzxraia
.

@f) xcr , F) = ( wiksxcrzr )
riw.CI/rY=rIwz(Ixr )
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t.lachinewithconcrete_Arthurgano.cn

:gannetseach stepping down the angular
velocity by 50 :L

.

One end is driven by
an electric motor

going
200

rpm .

The other

end is stuck in concrete
.

Question we you turn it on
,
what happens ?

@ motor breaks @ concrete breaks @ gears
break @ nothing .

Dr
Gear rate From motor to concrete

( stop = 102
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example '
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rBsn Of

#accelerations at ✓
points of rolling should be no slip

equal

Given W
,

= wo ; wz = - wo

&
,

= Xo XZ = to

Find : was ¥5
#its = - 5wo@ 0

Solutions: f. at =

joEFan-x.xrTn-w.2Ke-kokTxCriy-woaf-a@tFsxrIf-w32repr20fae-IzxIE_wrTE-DaF-EzxrIe-wz2rTetRxFEF-w32rIr-tn.jx

( Zre ) - wo4Zre ) + ( ask )xfEe ) - Isa.D⇒

Now let's compute f. at = f.a÷
=D rxo = Zrxo - €)r&}

|4=x# a similarly for #


